

1. $(x - 2y) : (3x - y) = 2 : 3$ 일 때, $\frac{3x + 2y}{3x - 2y}$ 의 값을 구하여라.

▶ 답 :

▷ 정답 : $\frac{1}{3}$

해설

$(x - 2y) : (3x - y) = 2 : 3$ 을 간단히 정리하면

$$6x - 2y = 3x - 6y, 3x + 4y = 0$$

$$\therefore x = -\frac{4}{3}y$$

$$\text{주어진 식 } \frac{3x + 2y}{3x - 2y} \text{ 에 대입하면 } \frac{3(-\frac{4}{3}y) + 2y}{3(-\frac{4}{3}y) - 2y} = \frac{-4y + 2y}{-4y - 2y} =$$

$$\frac{-2y}{-6y} = \frac{1}{3} \text{ 이다.}$$

2. $(x - y) : (2x - 5y) = 1 : 3$ 일 때, $\frac{5x + 2y}{4x - y}$ 의 값을 구하여라.

▶ 답 :

▷ 정답 : $\frac{8}{9}$

해설

$(x - y) : (2x - 5y) = 1 : 3$ 을 정리하면

$2x - 5y = 3x - 3y, x + 2y = 0$

$\therefore x = -2y$

주어진 식 $\frac{5x + 2y}{4x - y}$ 에 대입하면 $\frac{5(-2y) + 2y}{4(-2y) - y} = \frac{-10y + 2y}{-8y - y} =$

$\frac{-8y}{-9y} = \frac{8}{9}$ 이다.

3. $x + \frac{1}{y} = 1$, $y + \frac{1}{z} = 1$ 일 때, $z + \frac{1}{x}$ 의 값을 구하여라.

▶ 답 :

▷ 정답 : 1

해설

$x + \frac{1}{y} = 1$, $y + \frac{1}{z} = 1$ 을 x 와 z 를 y 에 관하여 풀면 $x = \frac{y-1}{y}$,

$$z = \frac{1}{1-y}$$

$z + \frac{1}{x}$ 에 대입하면

$$z + \frac{1}{x} = \frac{1}{1-y} + \frac{y}{y-1} = \frac{-1}{y-1} + \frac{y}{y-1} = 1$$